Instructor Notes
Lesson Objective:  Students will be able to solve word problems that involve percent 

Important formulas for understanding percent

Percent= Part Whole × 100
Part= Percent ×Whole
Whole = Part ÷Percent	


Percent - means “per hundred”

Example 1: A company states that you can expect that less than 5% of the wood in their shipment will be damaged. Out of 400 pieces of wood that were ordered, 22 pieces were damaged. Was the company true to their word?

You need to determine what percentage of the wood was damaged.

Percent = Part ÷Whole×100
Percent = 22 ÷400×100
Percent = 0.055 ×100
Percent = 5.5  
5.5%
This is higher than the company stated so you should get a refund!

Try it 1:
In a box of nails, 2% could be defective.
If you have a box of 10,500 nails, how many would be defective?

We want the “PART”

Part = Percentage × Whole
Part = 2% ×10,500 
Part = 0 .02 × 10,500 (Change % to a decimal)
Part= 210

Up to 210 nails could be defective!









[bookmark: _GoBack]Example 2: Meijer is offering a $25 discount on a tool that costs $175. Walmart has the same $175 tool marked 15% off. What is the percentage of the discount at Meijer?

Use: Percent = Part ÷Whole×100

Percent = 25 ÷175×100
Percent = 0.142857 ×100
Percent = 14.29  (Rounded to the nearest hundredth place)
14.29%

Which is the better discount? Meijer is 14.29% off and Walmart is 15%. Walmart is the better discount.

Try it 2: You know you are saving $25 at Meijer. What is amount of money you would save at Walmart if you save 15% off of a $175 tool?

Use Part = Percent × Whole
Part= 15% ×175    Convert 15% to a decimal
Part= 0.15 × 175
Part = 26.25

You save $26.25 at Walmart and only $25 at Meijer


